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pm and 6 pm. Compute the elapsed amount of
time, in minutes and seconds, between these
two times, correct to the nearest second.

Answer :

Round 1 2 3 4 5

#7 Trigonometry - Hustle
MA® National Convention 2011

The minute and hour hands of a clock are
perpendicular to each other twice between 5
pm and 6 pm. Compute the elapsed amount of
time, in minutes and seconds, between these
two times, correct to the nearest second.

Answer :

Round 1 2 3 4 5

#7 Trigonometry - Hustle
MA® National Convention 2011

The minute and hour hands of a clock are
perpendicular to each other twice between 5
pm and 6 pm. Compute the elapsed amount of
time, in minutes and seconds, between these
two times, correct to the nearest second.

Answer :

Round 1 2 3 4 5

The minute and hour hands of a clock are
perpendicular to each other twice between 5
pm and 6 pm. Compute the elapsed amount of
time, in minutes and seconds, between these
two times, correct to the nearest second.

Answer :

Round 1 2 3 4 5



#8 Trigonometry - Hustle
MAG® National Convention 2011

In AABC, where A and B are acute angles,
3sinA+4cosB=6 and 4sinB+3cosA=1.
Find the measure of ZC, in radians.

Answer :

Round 1 2 3 4 5

#8 Trigonometry - Hustle
MA® National Convention 2011

#8 Trigonometry - Hustle
MAG® National Convention 2011

In AABC,where A and B are acute angles,
3sinA+4cosB=6 and 4sinB+3cosA=1.
Find the measure of ZC, in radians.

Answer :

Round 1 2 3 4 5

In AABC, where A and B are acute angles,
3sinA+4cosB=6 and 4sinB+3cosA=1.
Find the measure of ZC, in radians.

Answer :

Round 1 2 3 4 5

#8 Trigonometry - Hustle
MA® National Convention 2011

In AABC,where A and B are acute angles,
3sinA+4cosB=6 and 4sinB+3cosA=1.
Find the measure of ZC, in radians.

Answer :

Round 1 2 3 4 5



#9 Trigonometry - Hustle
MAG® National Convention 2011

The depth d of water, in feet, at a point near
the shore varies due to the tides. A particular
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deep.
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